NAME: _______________________________________ 					DATE: ___________

TOPIC 4: Fractions Review


1. 
2.   ________


3.   ________



4.  _______


5.  _______


6. Simplify:
a.     __________

b.  _________


7. Fill in the missing numbers:
a. [image: ]   _________


8. Write the first quantity as a fraction of the second quantity:
a. 13c : $1  ________________________

b. 233 days: 1 leap year  ________________________

9. Write the following fractions in ascending size order: 
a.  ________________________

b.  ________________________


10. In a class of 28 students, 13 live in houses with gardens, 7 live in houses without gardens, and the rest live in flats. What fraction of the students:
a. Do not live in houses with gardens ______________________


b. Live in flats _____________________

11. It takes  minutes to wrap a parcel and a half a minute to address it. How long does it take to wrap and address 8 similar parcels?  __________________


12. A car travels  north, then  west and finally  north. 
a. What is the total distance travelled? _____________________

b. What fraction of the journey was travelled in a northerly direction? _____________________

Fraction Worded Problems:
                             [image: ]
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EXERCISE 1E.3

1
2

Michael eats % of a cheesecake and later eats % of the cheesecake. What fraction remains?

The cost of a Ford is % of the cost of a Rolls Royce. If the current price of a Rolls

Royce is $211 250, what is the cost of a Ford?

The price of tracksuit pants is % of the price of the matching top. If the two items
together cost £36, find the price of each.

A family spends % of its weekly budget on rent, % on food, é on clothes, % on

entertainment, and the remainder is banked.
How much is banked if the weekly income is €864.72?

Renee used % of a length of pipe and later used % of what remained.
What fraction of the pipe is left?

19—0 of the weight of a loaf of bread comes from the flour used in its baking.
% of the weight of the flour is protein. What fraction of the weight of the loaf is protein?

A farmer has 364 ewes and each ewe has either one N
or two newborn lambs. If there are 468 lambs in total,
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‘What fraction of the pipe is left?

6 19—0 of the weight of a loaf of bread comes from the flour used in its baking.

% of the weight of the flour is protein. What fraction of the weight of the loaf is protein?

7 A farmer has 364 ewes and each ewe has either one
or two newborn lambs. If there are 468 lambs in total,
what fraction of the ewes have twin lambs?

8 A tree is losing its leaves. Two thirds fall off in the
first week, two thirds of those remaining fall off in the
second week, and two thirds of those remaining fall off
in the third week. Now there are 37 leaves. How many
leaves did the tree have originally?

NUMBER  (Chapter 1)

41

FRACTIONS ON A CALCULATOR
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